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’ 100kN/mM##BZ % 1.00/0.00 ~ 3.07 148.90|3m%#E% 5| 0.00 ~ 0.55| 3.34 17.88| 100kN/m%# 2z % 1.00] 11.31 ~ 27.30 148.90|3m%i#B 25| 25.00 ~ 27.30 3.34 17.88
Zh st 1.00{ 3.07 ~ 10.86 100.00] Zh st | 055 ~ 10.86] 3.00 16.05 ZThLLSE 1.00| 500 ~ 11.31 100.00f Zh it | 500 ~ 25.00] 3.00 16.05
9 100kN/mM#%#BZ % 1.00/ 000 ~ 259 140.65|3m%#E% 5| 0.00 ~ 0.83| 3.56 19.07| 100kN/m%#z 3 1.00[ 1291 ~ 27.27 140.65|3m%i#8x5[20.00 ~ 27.27| 3.56 19.07
Zh st 1.00f 259 ~ 10.37 100.00|] X4t 10.83 ~ 10.37] 3.00 16.05 Zh LS 1.00| 500 ~ 1291 100.00| #h st | 5.00 ~ 20.00] 3.00 16.05
3 100kN/mM##8Z % 1.00{0.00 ~ 343 155.15|3m#%#E% 5| 0.00 ~ 0.38] 3.21 17.15] 100kN/m%Z# x5 1.00| 1055 ~ 32.44 155.15|3m%#Bx5[25.00 ~ 32.44| 3.21 17.15
Zh st 1.00{343 ~ 11.21 100.00|] #XLli4t 10.38 ~ 11.21] 3.00 16.05 Zh LS 1.00| 500 ~ 10.55 100.00| #hlust | 500 ~ 25.00] 3.00 16.05
4 100kN/mM#%# 8% % 1.00/ 000 ~ 1.80 127.64|3mZ#BZRD| - ~ = = -| 100kN/iZi#8 % % 1.00| 11.94 ~ 23.84 127.64|3m%HBZ% = ~ = = =
Zh st 1.00[ 180 ~ 958 100.00] Zhust | 000 ~ 958| 244 13.04 Zh LS 1.00|] 500 ~ 11.94 100.00| Zh it | 500 ~ 23.84| 244 13.04
5 100kN/mM#%# 8% % 1.00/ 000 ~ 157 124.03|3mZ#BZRD| - ~ = = -| 100kN/iZi#8 % % 1.00| 1232 ~ 22.90 124.03|3m%i#BZ% = ~ = = =
Zh st 1.00[ 157 ~ 9.36 100.00] #hlist | 000 ~ 9.36] 241 12.91 Zh LS 1.00| 500 ~ 1232 100.00| Zhlist | 500 ~ 22.90| 2.41 12.91
6 100kN/mM#%#BZ % 1.00/ 000 ~ 143 121.81|3mZi#BZR5| - ~ = = -| 100kN/iZi#8 % % 1.00| 12.65 ~ 22.63 121.81|3m%i#BZ% = ~ = = =
Zh st 1.00[ 143 ~ 922 100.00|] ZXLll4t | 000 ~ 922 2.39 12.81 Zh LS 1.00|] 500 ~ 12.65 100.00| Zh it | 500 ~ 22.63] 2.39 12.81
100kN/mM#%# 8% % ~ ImERBZD ~ 100kN/mM#Z#BZ % ~ ImEEZD ~
ZFhn st ~ ZFh st ~ Zh st ~ Zzh st ~
100kN/mM%#EZ % ~ ImEEZ D ~ 100kN/m%#BZ % ~ ImEEZD ~
ZFh st ~ ZFh st ~ Zh st ~ Zh st ~
100kN/mM%#EZ % ~ ImEEZ D ~ 100kN/m%#BZ % ~ ImEEZD ~
Zh st ~ Zh st ~ Zh st ~ ZhLst ~
100kN/mM%#EZ % ~ ImEEZD ~ 100kN/m%#BZ % ~ ImEEZD ~
ZFh st ~ Zh st ~ Zh st ~ Zh st ~
100kN/mM%#EZ % ~ ImEEZ D ~ 100kN/m%#EZ % ~ ImEEZD ~
Zhn st ~ Zh st ~ Zh st ~ Zh st ~
100kN/mM%#EZ % ~ ImEEZ D ~ 100kN/m%#BZ % ~ ImEEZD ~
Zh LS ~ Fh s ~ Zh st ~ ZhLS ~
100kN/mM%#EZ % ~ IMEHEZD ~ 100kN/mM%#BZ % ~ ImEBZD ~
Zh LS ~ Fh s ~ Zh st ~ ZhLS ~
100kN/mM%#EZ % ~ ImEHEZD ~ 100kN/m%#BZ % ~ ImEBZD ~
Zh LS ~ Fh s ~ Zh st ~ ZhLS ~
100kN/mM%#E% % ~ ImEHEZD ~ 100kN/mM%#BZ % ~ ImEEZD ~
LS ~ ZNLSE ~ ZThLst ~ ZTHLSE ~ |
=EFR



